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(@)

The rechargeable battery used in a mobile | 4,
phone handset is generally

(1)
(2)
(3)
(4)

Lithium Ion Battery
Zinc Ion Battery
Magnesium Ion Battery
Copper Ion Battery

Former US President Barack Obama
visited India on 26" January 2015 as the
Chief Guest at the Republic Day Parade.
Who was the first American President to
visit India ?

(1) Richard Nixon

Jimmy Carter

(3) Dwight D. Eisenhower

(4) George W. Bush

The States of the Indian Union can be
reorganized or their boundaries can be

altered by

(1) An executive order of the.Union
Government with the consent of the
concerned State Government. 5.

The Union Parliament by a simple
majority in the ordinary process of
legislation.

(2)

Two-thirds ‘majority of both the
Houses of the Parliament.

(3)

Two-thirds majority of both the
Houses of the Parliament and the
consent of the concerned State

Legislature.

(4)

(3-B)

Which of the following Fundamental
Rights are available to Indian citizens but

not to aliens ?

A. Equality before law

B. Freedom of expression and speech

C. Right of minorities to conserve their

language and culture

D. Protection to life and liberty

Select the code for the correct answer

from the options given below :
(1) A;BandD only
(2) . A, Band C only

(3) B, CandD only

(4) BandConly

Who was sent by the ruler of Bijapur to
punish Shivaji ?

(1) Rumi Khan
(2) Shaista Khan
(3) Afzal Khan

(4) Inayat Khan
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Which of the following are correctly | 8.

matched ?

A.  Part III of the Constitution -

Fundamental Rights

B. Part II of the Constitution -
Citizenship

C. Part IV A of the Constitution -
Fundamental Duties

D. Part V of the Constitution -
Directive Principles of State Policy

Select the code for the correct answer
from the options given below :

(1) AandBonly

(2) BandC only

(3) A, BandC only

(4) CandD only

Who among the following received the
Bharat Ratna posthumously ?

A. Khan Abdul Ghaffar Khan
B. Dr. B.R. Ambedkar
C. Jai Prakash Narayan

Select the code for the correct answer
from the options given below -

(1) A andBonly

(2) BandC only

(3 A,BandC

(4) None of the above

(5-B)

What is the chronological sequence of the

following Peshwas ?

A. Balaji Vishwanath
B. Balaji Baji Rao

C. Baji Réao I

D. Narayan Rao

Select the code for the correct answer

from the options given below :

(1) ACB,D
(2) ACD,B
3 ABCD
4) C,B,AD

Consider the following statements :

A. Vidarbha cricket team won the 2017
Ranji Trophy Tournament.

B. It is Vidarbha’s first Ranji Trophy
title.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly
(2) Bonly
(3) BothAandB

(4) Neither A nor B
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10. Consider the following statements :

11.

281

A.  Aurangzeb banished all forms of
music from his court.

B. He was an orthodox Sunni Muslim
in his personal religious outlook.

Which of the statements given above

is/are correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) BothAandB
(4) Neither A nor B

In Indian history, who was Abdul Hamid
Lahori ?
He was an imp.ortant military

commander during the reign of
Akbar.

(1

He wat an official historian of the
reign of Shah Jahan.

(2)

He was an important noble and very
close to Aurangzeb during his rule.

(3)

He was the court poet during the
time of Muhammad Shah.

4)

(7-8B)

12. Two statements have been given followed

13.

by two conclusions. You have to consider
the statements to be true, even if they do
not conform to the well-known facts.
Which conclusion(s) logically follow(s)
from the given statements ?

Statement I : All men are cats.
Statement II : All cats are dogs.
Conclusion A : All men are dogs.
Conclusion B : All dogs are men.

Which of the following is correct ?

(1) Only conclusion A follows from the

given statements.

(2) Only conelusion B follows from the

given statements.

Both conclusion A and conclusion B
follow from the given statements.

(3)

Neither conclusion A nor conclusion
B follows from the given statements.

4)

Kuznetsk coal basin is one of the largest
in the world covers about

70,000 square Kkilometres and contains
excess of

and

mineable resources in
300 billion tonnes. In which of the

following countries is it located ?

(1) Tajikistan
(2) Estonia
(3) Russia

(4) Lithuania
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14. Which Article of the Constitution of India | yg. [na group of persons travelling in a train,
directs that “the State shall endeavour to
protect and improve the environment and

to safeguard the forests and wildlife of the
country” ? that group no one can speak any language

8 persons can speak Hindi, 15 can speak

Kannada and 10 can speak English. In

other than these three languages.

(1) Articled8 A _
2 persons in the group can speak

(2) Article 47 A 2 languages and 3 persons can speak all
3 languages. How many persons are there
(3) Article 50 A s F
in the group ?
(4) Article51 A
(1) 21
(2) 25
15. With reference to the art and culture of
Karnataka, consider the following @) 29
statements :
4) 24

A. Bhootha Aradhane, a way of Tulu
worship is a ritualistic dance with
its origin traced to the coastal parts

of Karnataka.
B. Nagamandala is a folk art of
. worshipping snakes prevalent in
northen Karnataka.

e 2 km
Which of the statements given’ above 17. In one hour a motorboat goes 1
along the stream and 6 km against the

stream. What is the speed of the boat in

is/are correct ?

Select th .
ect the code for the correct answer still water ?

from the options given below :

(1) A only (1) 8 km/hour
(2) Bonly (2) 10 km/hour
(3) BothAandB (3) 9 km/hour
(4) Neither A nor B (4) 12 km/hour

281 (9-B)
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There are four boxes and four balls each
of colours Red, Blue, Green and White.
Each ball is put in a box such that no box
has a ball of its colour. The minimum
number of boxes to be opened such that
we can identify which coloured ball is in

which coloured box, is

1 1
(2) 2
@3 3
4) 4

Match the Types of Islands (List I) with
the Islands (List IT) :

List I List IT
(Type of Island) (Island)
A. Continental I. Mauritius
Island

B. Coral Island II. Madagascar

C. Island of volcanic  III. Maldives

origin

Select the code for ‘the correct answer
from the options given below :

A B C
1) II III I
(2) III II I
3 II I III
(4) III I II

20.

21.

The classification of the world’s climate
into torrid, temperate and frigid zones on

the basis of temperature was made by

(1) Koppen

(2) Thornthwaite

(3) Medieval Geographers

(4) Ancient Greek Geographers

Match the Books (List I) with their
Authors (List II) :

List I List IT
(Book) (Author)
A. Two Lives I. Ruskin Bond

B. The Blue Umbrella II. Vikram Seth
C. A Brief History of III. Dan Brown
Time
D. The Da Vinci Code IV. Stephen
' Hawking
V. Shashi

Tharoor

Select the code for the correct answer
from the options given below :

A B C D
(1 II I v III
2) 1 II A% 1\Y
@) I \' 1\Y III
4) I III v A

(11-B)
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The Speaker of the Lok Sabha may be
removed from office by

(1) The majority party in the House

adopting a no-confidence motion.

(2)  Aresolution passed by not less than

half of the total membership of the
House.

(3) A resolution passed by at least

two-thirds of the total membership
of the House.

(4) A resolution passed by a majority of

all the members of the House.

Which of the following vetoes are the
President of India vested with ?

A.  Absolute veto
B.  Suspensive veto
C. Pocket veto

D. Qualified veto

Select the code for the correct answer
from the options given below :

(1) B, CandD only

(2) BandC only

(3) A, Band C only

(4) A,B,CandD

24.

25.

The epithets “Nolambavadigonda” and
“Talakadugonda” are found on the coins
of which of the following ?

(1) Ballalall

(2) Bittideva

(83) Veera Someshwara

(4) Narasimha III

Article 156 of the Constitution of India
provides that a Governor shall hold office
for a term of five years from the date on
whieh he enters upon his office.

Which of the following can be deduced
from the above Article ?

A. No Governor can be removed from
his office till the completion of his
term.

B. No Governor can continue in office
beyond a period of 5 years.

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) Both AandB

(4) Neither A nor B

(13-B)
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26. Consider the following statements :

217.
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A. The Chief Justice of India holds
office for six years or until he
attains the age of 65 years.

B. The Judge of the Supreme Court
can resign from the office by writing
to the Chief Justice of India.

C. The Judge of the Supreme Court
can be removed from his office by
the President on the
recommendation of the Parliament.

Which of the statements given above
is/are correct ?

Select the code for the correct answer

from the options given below :

(1) AandBonly

(2) BandConly
(3) Conly

(4) None of the above

The famous Jain scholar Jinasena was in
the court of which of the following kings ?

28.

‘Buland Darwaza’ at Fatehpur Sikri was
built by Akbar to commemorate his

victory over which province ?

(1)  Gujarat

(2) Sindh

(3) Punjab

(4) Mewar

Which of the statements

regarding the Rajya Sabha is/are correct ?

following

A. The maximum permissible strength
of thee Rajya Sabha is 250

members.

B. In the Rajya Sabha, 238 members
are elected indirectly from the

States and Union Territories.

C. It shares legislative powers equally
with the Lok Sabha in matters such

as creation of All India Services.

Select the code for the correct answer

from the options given below :

(1) Amoghavarsha (1) AandBonly
(2) Krishna (2) A,BandC
(3) Dhruva |
(3) B andC only
(4) Dantidurga
(4) Aonly
(15-B)
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80. Acronym MUDRA

31.
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in MUDRA Bank
stands for which of the following ?

(1) Macro Units Development and
Reconstruction Agency Bank

(2) Modified Development and
Restructuring Agency Bank

(3) Micro Units Development and
Refinance Agency Bank

(4) Manufacturing Units Development

and Refinance Agency Bank

Under the Vijayanagar rulers what was

the system of sharing between the
landlord and the tenant known as ?

(1) Kavalgar

(2) Kairinaikuddi

(3) Varam

(4) Kuttagai

A and B can finish a _job together in
12 days while B alonecan finish the same
job in 30 days. In*how many days can A

alone finish the job ?
(1) 10'days
(2) 12days
(3) 18 days

(4) 20days

33.

35.

The average daily expenditure for a
person for the first five days is ¥ 120 and

for the next four days is T 80. If he has
saved total T 25 during the period of nine
days, then what is his average daily
income ? '

(1)
(2)
(3)

TH
Z 105
T 945

(4) ¥ 120

Which one among the following hormones

stimulates. the plant-cells to grow in a
manner such that the plant appears to be
bent towards light ?

(1)  Cytokinin

(2) Auxin

(3) Gibberellin

(4) Abscisic acid

Aluminium is more reactive than iron but
aluminium is less easily corroded than
iron because

(1) Oxygen forms a protective oxide

layer.

(2) Aluminium is a noble metal.

Iron undergoes reaction easily with

(3)

water.

(4) Iron has the capability to form ions.

(17-B)
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Match the Alloys (List I) with the|gg \Whatis a URL ?
Constituents (List II) :
(1) It is the software used in
List1 List I defragmentation of the disk of a
(Alloys) (Constituents)
computer.
A. Solder I. Copper, Aluminium
B. R . R b .
- (f"om k. e 'I‘m' (2) It is a software to make the
C. Magnalium III. Copper, Zinc )
D. Brass IV. Magnesium computer screen bright.
Aluminium
V. Copper, Tin (8) It is a specific character string that
i fi
Select the code for the correct answer constituies, & JERQIER W =
from the options given below : Internet resource.
a4 B C 2 (4) It is a specific uniform alignment of
(1) II I v \Y% the ‘computer software to make it
2 1II I v 11 run faster.
3) I IT A% III
@ I I v v 39. Which of the following pairs are correctly
matched ?
Waterfalls Rivers
In four-wheelers and modern _—
automobiles, the outside mirror is marked A. Kapildhara ~  Godivar
with the warning that “Objects in-mirror
are closer than they .appear”.. Such B. Jog Falls —  Sharavathi
mirrors are
C. Shivanasamudram — Cauvery
(1) Plane mirrors Select the code for the correct answer
from the options given below :
(2) Concave mirrors with very large
focal lengths (1) AandBonly
(3) Concave mirrors with very small (2) AandC only
focal lengths
(8) BandC only
(4) Convex mirrors
(4) A,BandC
(19-B)
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Match the Names of Warheads (List I)
with their Types (List II) :

List I List IT
(Name of (Type)
Warhead)

A. Tejas I. Main Battle Tank

B. Dhruva II. Light Combat
Aircraft

C. Arjun III. Advance Light
Helicopter

D. Dhanush IV. Ship based Missile

Select the code for the correct answer
from the options given below :

A B C D
(1 1I I III IV
(2) 1II III I v
3) Iv III I II
4) IV II I III

Sanitary and Phytosanitary Measures
(SPS) Agreement, that. mandates how
can < apply food safety,

42.

Which of the following is correct about the
Joint Session of the Parliament ?

A. It is summoned by the President.

B. It is presided over by the Chairman
Rajya Sabha.

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
4)

A only

B only

Both A and B
Neither A nor B

Which State Government received the
Most Supportive Government Award,
2017 ( at .the International Awards
Ceremony held in Washington DC where
the Award was given by WEConnect
International ?

(1) Andhra Pradesh
(2) Telangana

(3) Karnataka

(4) Kerala

gm'rernments 7> | 44. Who was the Chairman of 83rd All India
animal and plant health measures,. is Karnads ‘Sabitye Ssomelan held b
related to ~which of the following Myt ?.
organisations ?
: (1) Dr. Siddalingaiah
(1) World Economic Forum
(2) World Health Organisation (2) Baraguru Ramachandrappa
(3) World Trade Organisation (3) Chandrashekhar Patil
(4) Food and Agriculture Organisation (4) Chandrashekhara Kambara
(21-B)
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In June 2017, a country put forward a
proposal before the Government of
Karnataka to establish a Tourism
Information Office in their country to
facilitate tourism in Karnataka. Which
country made the proposal ?

(1
(2)
(3)

(4)

France

Korea

Nigeria

Japan

Which of the following sequence of rivers

flows in western direction of Karnataka
State ?

(1) Bhima - Hiranyakeshi — Krishna
(2) Kali - Gangavathi — Krishna

(3) Aghanashini - Ghataprabha -
Bhima

(4) Netravati — Gangavalli — Kali

Who is known as the Father ‘of
supercomputing ?

(1) Seymour Cray

(2) Adam Dunkels

(3) David J. Brown

(4) Gene Amdahl

Which city hosted the World Sweet

Festival in January 2018 ?
(1) New Delhi

(2) Hyderabad

(3) Lucknow

(4) Chennai

49.

50.

b1.

52.

Which of the following was the Deccani
Muslim State which declared ‘Hindi’ or
‘Dakhini Urdu’ as the official language of
the State instead of Persian ?

(1)
(2)
(3)
(4)

Golconda
Ahmednagar
Berar

Bijapur

What is the local name of St. Mary’s
Island near Malpe ?

(1) Pigeon Island

(2) Thonsepar

(3) Netrani Island

(4) Daria Bahadurgarh

The monism preached by which of the
following Bhakti Saints is known as
Shuddhadvaita or pure non-duality ?

(1) Narsi Mehta

(2) Nanak

(3) Kabir

(4) Vallabhacharya

Which of the following districts of

Kartanaka holds the sobriquet “Cradle of
Infantry” ?

(1) Bengaluru
(2) Mysuru
(3) Belgaum
(4) Bidar

(23-B)
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India’s first Film and Television Institute | 56. Which State has recently signed the host
(FTII) was set up in Pune as an city contract with the Indian Olympic
autonomous institute under the Union Association (IOA) for hosting the
Ministry of Information and Broadcasting 39th National Games in 2022 ?
(I&B). Where is it planned to set up the
second FTII soon ? (1) Nagaland
(1) Mizoram (2) Manipur
(2) 'Tripura
(3) Mizoram
(3) Arunachal Pradesh
(4) Orissa (4) Meghalaya
57. Which city will host the first edition of
First ever People of Indian Origin (PIO) f(}grrlz‘:;;affa ;‘n;)emat1o2nsa120'fi‘18'a: B S5
Parliamentary Conference took place in PShan < g ’
New Delhi on 9t® January 2018. Who (1) Bengaluru
inaugurated the conference ?
(1)  Shri Narendra Modi @ LERey
(2) Smt. Sushma Swaraj (8) = Dharwad
1 M.V iah Nai
(3) Shri M. Venkaiah Naidu &7 Mysuru
(4) Shri Ram Nath Kovind
Union Defence Minister Nirmala 58. Before he was appointed as Hon'ble
Sitharaman proposed to set up a:Defence Governor of Karnataka, Shri Vajubhai
Innovation Centre (DIC) in which of the Rudabhai Vala had served as the Speaker
following cities ‘to assist small industries P whiat ot thie followingassamblics ?
in manufacturing the components of
defence sector ? (1) Rajasthan Legislative Assembly
(1) Kozhikode (2) Madhya Pradesh Legislative
bl
(2) Bengaluru ABREmELY
(3) Coimbatore (3) Delhi Legislative Assembly
(4) Chennai (4) Gujarat Legislative Assembly
(26-B)
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The Railways play an important role in [ 61. Match the International Organisations
transporting people and goods. The (List I) with their Headquarters (List II) :
railway lines traverse through diverse List 1 List II
geographical regions. Which is the (International (Headquarters)
highest railway line in the world ? Organisation)
A. Interpol I. Paris
(1) Qinghai - Tibet Railway in China
. B. OECD II. Lyon
(2) Lima - Huancayo in Peru
; C. ADB III. Dhaka
(3)  Rio Mulatos - Potosi in Bolivia
D. BIMSTEC IV. Manila
(4) Jungfraubahn in Switzerland
Select the code for the correct answer
from the options given below :
Match the B i i I
e Boards (List I) with their A B C D
Headquarters (List II) :
(1) 1 IT v 111
List I List IT
(Board) (Headquarters) (2R, 1 II I v
A. Coffee Board I.  Guntur 3)  II I III v
B. Rubber Board II. Bengaluru (4) I I v 111
C. Tea Board ITI. Kottayam
62. In a major digital initiative to help plan
D. Tobacco Board IV. Kolkata the traffic flows and optimise freight
V. Mumbai operations, Ministry of Railways has
launched an App for freight managers
Select the codesfor\ thé correct answer recet.ltly. The App provides features for
from the options given below : monitoring and managing freight
business using GIS views and Dashboard.
A B C D .
What is the name of the App ?
m m o vl (1) SFOORTI
1 m IV I (2) SPOORTI
@ Im m I (3) RELFRE
4 1m I v v (4) RAILLOAD
(27-B)
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Ayurveda, which literall th - he fi ; :
science  of ‘lif'e. s an alfcierrlllfagsedica? 65. Consider the following statements
science which was developed in India A. Regur soils are highly fertile.
thousands of years ago. Who is said to be
the founder of Ayurveda ? B. Regur soils are good for citrus fruits.
(1) Charaka C. Regur soils are widespread in
Maharashtra.
(2)  Brahma
D. Regur soils are suitable for
(3)  Acharya Punarvasu leguminous crops.
(4) Patanjali Which of the above statements are
correct ?
Match the Railway Zones (List I) with Select the code for/ the ecorrect answer
their Headquarters (List II) : from the options given below :
List 1 R (1) A, Band C on]y
(Railway Zone) (Headquarters) (2) A, Cand Donly
A. Central Railway 1. Hajipur (3)» B,C and D only
(4) A, B,CandD
B. East Central II. Jabalpur
Railway
) 66.. . Arrange the following states in increasing
C. South Central III. Mumba order of population as per Census 2011 :
Railway pop pe '
A. West Bengal
D. West Central IV. Secunderabad
Railway B. Uttar Pradesh
V. Bilaspur C. Bihar
Select the code for the correct answer D. ‘Karnstaka
from the options given below :
Select the code for the correct answer
A B C D from the options given below :
(1) III I v I (1) D,ACB
(2) III I I IV (2) D,CAB
(4) A,D,B,C
(4) 1II \% III IV
(29-B)
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67. Match the Agricultural Zones (List I) with [ 8. Match the Discoveries (List I) with the

the Distr:icts (List II) which come under Discoverers List II) :
that agricultural zone in the State of
Karnataka : List 1 List I1
(Discovery) (Discoverer)
List I List IT A. America I. Amundsen
(Agricultural (Districts)
e) B. NorthPole I Columbus
A. Coastal Zone I. Hassan, Tumkur,
Mandya, Mysuru, C. South Pole III. Kepler
Chamarajnagar
B. North Eastern II. U. Kannada, D. Planetary R Jphert Peary
Dry Zone D. Kannada, e
Udugi V. Vasco Da Gama
C. Northern III. Belagavi,
Pransibismsi Dharwad, Haveri Select the code for the correct answer
Fstse .y ’ from theoptions given below :
adag
D. Southern Dry IV. Gulbarga, A = C D
Zone Raichur, Yadgir @ I I v 11
2 v v I ITI
Select the code for the correct answer 3) 1II v I 111
from the options given below : (4) 1II I v A"
A B C D
69. Who said the following ?
Q I I v I “Population, when unchecked, increases
in a geometrical ratio. Subsistence
(2) III IV I II increases only in an arithmetjcal ratio.”
(1) Karl Marx
3) IV II1 II I (2) Malthus

(3)  Doubleday

4) 1I v 111 I
(4) Semple

. 28 . (31-B)
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1940, Mahatma Gandhi
limited Satyagraha on an individual basis

because

In initiated

(1)  He wanted to unite both, the left

and right wings of the All India
National the

Congress during

National Movement.

(2)  He wanted to express the symbolic
opposition against the British rule
as it was appeasing the Fascist
powers in Europe.

(3) He wanted to give the British rule a

chance to peacefully accept the
Indian demands of freedom and to
immediately constitute an interim

Indian government.

He wanted to provide his active
support to the British rule to oppose

the Fascist powers in Europe.

(4)

72.

73.

Which of the following is a wartime
gallantry award ?

(1) Ashok Chakra

(2) Kirti Chakra
(3) Vir Chakra
(4) Shaurya Chakra

Which of the following Acts was described
by Jawaharlal ~Nehru /as the “New

Charter of Slavery” ?

(1) Government of India Act, 1919

(2) Government of India Act, 1935

(3) Pitt’s India Act, 1784

(4) Regulating Act, 1773

74. “Operation Polo” was related to which of
the following ?
Who, among the following Urdu poets, (1) Arrest of Jawaharlal Nehru during
was invited to the. Second and Third the Quit India Movement
Round Table Conferences ? (2) Invasion of Indian National Army
(1) Fai ad Faiz over British India
aiz Ahm
. (3) Annexation of Hyderabad Princely
h Malihabadi
2] ook State by the Government of India
ad Igbal
€ Hphmomaild (4) Freedom struggle of Goa against the
(4) Firaq Gorakhpuri Portuguese
(33-B)
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75. The object of the Butler Committee of | 77. The sum of the ages of P, Q and R is
1927 was 50 years. What is Q’s age ?

A. Pis 10 years older than Q.

(1) To modernize the Indian Army. 30 1d
B. Ris 30 years old.

(2)  To modernize Indi i

. . dian agriculture. Which of the above statements contain

(3) To impose censorship on national sufficient data to answer the question ?
press, Select the code for the correct answer

(4) To improve the relationship from glisolzltlons'gwse: ::low: o |
betlween the Government of India e suf?iciealt: t:)nans:ern:flgtquesiiﬁﬁe N
and Indian Princely State )

RIRRARES. (2) The data in Statement B alone is
sufficient to answer the question.

(3) The data given in both Statements

76. Match the Important Days (List I) with A and B together is not sufficient to
the Dates (List II) : answer the question.
(4) The data in both Statements A and

List I List II B together is necessary to answer

(Important Day) (Date) the question.
78. Find the correct figure from the answer

A. World Red Cross 1. 218t J
Day g figures that will replace the question
mark (?) in the question figure.
B. International II. gth May Question figure :
Day of Yoga

A O ?

Select the correct option :

C. Indian Air Force III. gth September
Day

D. International IV. gth O¢tober
Literacy Day
o [A

V.. 7t November

Select the code for the correct answer

from the options given below : (2)

A_. BL C D

m 1 o vV ® [ ()
@ m 1 1o IV
@ m 1 IV I

w | O
@ un 1 vV

281 (35-B)
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How many straight lines are there in the
following figure ?

(1) 11
(2) 12
(3) 15
(4) 48

Examine the following statements :

A. Ajay scored more than Rahul.
B. Rahul scored less than Manish.
C. Manish scored more than Ajay.

D. Vijay scored more than Ajay but less
than Manish.

Who scored the highest according to the
above statements ?

(1) Ajay

(2) Rahul
(3) Manish

(4)  Vijay

81.

In the question, a statement is followed
by two assumptions A and B. You have to
consider the statement and the following

assumptions and decide which of the
the

assumptions is/are implicit in

statement.

Statement : The State Government has
decided to appoint four
thousand primary  school
teachers during the next

financial year.

Assumption A: 'There are enough
schools in the State to
accommodate four
thousand additional
primary school teachers.

The eligible students
may not be interested to
apply or the Government

Assumption B :

may not finally appoint
such a large number of
primary school teachers.

Select the code for the correct answer
from the options given below -

(1)  Only Assumption A is implicit

(2)  Only Assumption B is implicit

(3) Both Assumption A and Assumption

B are implicit

(4) Neither  Assumption A

Assumption B is implicit

nor

(37-B)
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83.

Ashish said to Prakash
with the footbag]) 1S the
brothers of the dau
wife.” How ig the

related to Aghish ?

» “That boy playing
younger of the two
ghter of my father's
boy playing football

(1)  Son

(2)  Brother

(3)  Brother-in-law
(4)  Cousin

In the following question, a figure
carrying
Assuming that the numbers in the figure

certain numbers is given.

follow a similar pattern, find the missing

84,

85.

following diagrams
relationship

Which of the
represents  the
between Currency, Rupee and Dollar ?

correct

(1) O
0 O

O
(4)

A boy starts from home early in the

morning and walks straight for 8 km

number, facing the Sun. Then he takes a right
turn and walks for 3 km. Then he turns
right again and walks for 2 km and then
17 | 8 | 5 | 5 he turns left and walks for 1 km. Again
13 7 5 4 he turns right and walks for 1 km. Then
6 12 | 6 3 he turns right and walks for 4 km
P 4 L u straight. How far is he from the starting
point now ?
(1) 5km
(1) 4
(2) 6km
(2) 5
(3) 2km
3) 6
(4) 4km
4) 2
(39-B)
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g6. Three position

§ of a dice are given below !

What is the number on the face
to6 ?

opposite

5 R
(2) 4
3 5
4) 7

Consider the following changes :
A. Curdling of milk

B. Drying of paint

C. Sublimation of campher

D. Oxidation of SOy to SO

above are chemical

Which of the
changes.?

(1) A,BandD only

(2) A, CandDonly
3) A,B,CandD
(4) A,BandC only

88.

89.

90.

91.

Which one of the following Five Year

Plans was terminated by the Janata

Party Government in 1977 - 78 7

(1) 4" Pive Year Plan

(2) 5 Ifive Year Plan
3) 7'M Five Year Plan
(4) 8" Five Year Plan

At the Mughal Court, who were known as

Turanis ?

(1) Those who came from Iraq

(2) Those who belonged to Afghanistan

(3) Those who hailed from regions of
Central Asia

(4)¢ Those who came from Iran

The Palk Bay lies between which of the

following ?

(1)  Gulf of Kutch and Gulf of
Khambhat

(2)  Gulf of Mannar and Bay of Bengal

(3) Lakshadweep and Maldives Islands

(4) Andaman and Nicobar Islands

In which of the following places is the
Peacock Sanctuary located ?

(1) Mandagadde
(2) Magadi

(3) Bonal

(4) Bankapura

(41-B)
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g2. In which of the followin

& river mouths is
Bhatkal Port situateq 9

(1) Sitanadi
Sharabi

Tadri

(2)
(3

(4)  Sharavathi

Which of the following is not responsible
for inflation ?

(1) Excess liquidity in the economy

(2)  Increased savings by the people

(3)  Rapid expansion of the bank credit

(4) Excessive spending by the
Government

An electrical appliance is earthed to

A.  prevent the appliance against any
damage.

B.  prevent electric shocks.
C.  avoid short-circuiting.

D. save energy.

Which of the statements given above

is/are correct ?

Select the code for the correct answer
from the options given below :

(1)  Aonly
(2) B only
) Band C only
4)  Cand D only

95. Match the Famous Places (List D
associnted with the F.minent
Personalities (List 1) :

List [ List I
(Famous Place) (Eminent

96.

Personality)

A. Corsica [.  Alexander the
Great

B. Macedonia II. Napoleon
Bonaparte

C. Trafalgar IIT. Nelson

D. Mecca IV Prophet
Mohammad

Select the code for the correct answer
from the options given below :

A B C D
(1 1 IT 111 v
@) | 1II I II1 v
@ 1 I v III
(4) III IT I IV
The Economic Survey of India is

published officially every year by which of
the following ?

(1) Reserve Bank of India

(2) Planning Commission of India

(3) Ministry of Finance, Government of

India

(4) Ministry of Industries, Government

of India

(43-B)
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97, M.atch the Mont_lments (List I) associated | 99, What is the duration of the term of the
it RS DpRPtee [Liggam) Chief Information Commissioner /

. A% o
Information Commissioners :

ListI List I
(Monument) (Dynasty)
: : ‘ fixed term. The
A. Alai Darwaja I.  Slave Dynasty (i There & I ;
Commissioners ~ work  till the
B. Hauz Khas II. Mughal pleasure of the President.
Dynasty
C. Shalimar Bagh III. ilii :
4 II. Khilji Dynasty (2) Appointed for a term of five years or
D. AdhaiDinKa  IV. Tughlaq till the age of 65, whichever is
Jhopra Dynasty T
V. Lodi Dynasty RHESER
Select the code for the correct answer (3) Appointed for a term of three years
from the options given below : : or till the age of 65, whichever is
A B C D earlier.
1 I 111 II A%
(2) III v II I (4) Appointed till the Commissioner
3) IV 111 I I reaches the age of 70 years.
(4) 1III v A% II
100. The first British Governor General of
98. Consider the following functionaries : India, Warren Hastings was accused of
misconduct. What action was taken
A. Cabinet Secretary against him ?

B. Chief Election Commissioner
(1) He was asked to return to Britain.

C. TUnion Cabinet Ministers

D.  Chief Justice of India (2) Impeachment proceedings were

The correct sequence in the order of started against him.

precedence 18

(1) C,D,B,A (3)  He was asked to pay a heavy fine.
(2 D,C,AB (4) He was asked to apologize to the
@ D,CB A British Empire.

4 C,D,A,B
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